[bookmark: _GoBack][image: Macintosh HD:Users:dking:Desktop:Screen Shot 2019-05-22 at 1.14.09 PM.png][image: Macintosh HD:Users:dking:Desktop:Screen Shot 2019-05-22 at 1.16.33 PM.png][image: Macintosh HD:Users:dking:Desktop:Screen Shot 2019-05-22 at 1.13.50 PM.png]
image1.png
Hardy Weinburg Data Table Gene Frequency
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naray - weinburg:

P2 +2Pq +q2 = \m
P+ q= 1

1. Determine the homozygous recessives in a population

2. Convert that number to a decimal =q?

3. Solve for q

4. Solve for.P

5. Depéfmine P2, 2Pq and g2~ 7 bz \\%L)‘
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Hardy - Weinburg:
P2 +2Pq+q?=1
P+q=1

1. Determine the homozygous recessives in a population
2. Convert that number to a decimal =q?

3. Solve for q

4. Solve for P

5. Determine P2, 2Pq and g*-
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